Algebra 2 







Name: _________________________
Unit 7, Day 11







Date: ______________ Period: _____
Introduction to Synthetic Division
(  Recall from yesterday that we used long division when dividing polynomials.

Example #1: Let 
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(  There is a nice shortcut to long division called _____________  _____________.  Synthetic division is for divisors of the form ____________.  






Example #2: Let 
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( Remember to put in ______ for missing terms.
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Example #3: Let 
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	Since the remainder is _______, 
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Likewise, (–3, 0) is a ______________ of the graph of 
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CONCLUSION:

	_______________________:  
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	___________________________:  If 
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Using Synthetic Division to Find the Zeros of P(x)
Example #4:  Given that 
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, find all the zeros of 
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	Step 1:  divide by 
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	Step 3:  find the zeros of 
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Step 4:  Sketch a graph of 
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	Step 2: divide ______________________ by 
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Mixed Practice:
	1.  Find 
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	2.  Given each 
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	b)  
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	c)  
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	3.  Use long division to find 
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	4.  Determine the equation for each graph.

	a)  

Equation:


	b)  

Equation:


	c)  

Equation:



	5.  Write the standard form equation for each conic section.  Graph each equation.  
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